
:6Ln kmlg{r/:6Ln kmlg{r/:6Ln kmlg{r/:6Ln kmlg{r/ 
cfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutf    

cfw'lgs 3/ tyf sfof{nox? a9\b} uPsf] x'Fbf :6Lnsf kmlg{r/x? klg ;f]xL cg'kftdf a9\b} 
uO/x]sf 5g\ . :6Ln kmlg{r/x? sf7sf] eGbf alnof] x'g'sf ;fy} s]xL xb;Dd cfunfuLaf6 klg arfpg 
;lsg] x'Fbf o;sf] nf]slk|otf klg a9\b} uO/x]sf] 5 . of] ;fdfg s]xL aif{ klxn] :jb]zdf ;Lk tyf 1fgsf] 
cefjn] ubf{ ljb]zaf6 cfoft x'g]df dfq} e/ kg'{kb{Yof] t/ cfhsn o;sf] ;Lk tyf 1fg klg :jb]zs} 
sfdbf/df ePsf] x'Fbf :jb]zdf g} :6Ln kmlg{r/x? lgdf{0f x'g yfln;s]sf] 5 . oBlk o:tf pBf]ux? b]vf 
kl/;s] tfklg ahf/ tyf tL pBf]ux?sf] IfdtfnfO{ Wofgdf /fvL cem} klg o:tf] pBf]usf] a9L 
;DefJotf b]lvG5 . 

 
k|ljlwk|ljlwk|ljlwk|ljlw    

:6Ln kmlg{r/ agfpgdf v'Votof dflg;sf] a9L sfd x'G5 . k|:tfljs Jnfs l;6af6 h'g ;fdfg 
agfpg' kg]{ xf], ;f]sf] ljleGg efux?sf] gS;f agfOG5 / gS;f sf]l/P cg';f/ rflxg] 7fFpx?df l;+ol/u 
d]zLgn] sfl6G5 . gS;f cg';f/s} rflxPsf] 7fFpx?df j]lG8Ë d]zLgåf/f aª\UofOG5 . o;/L ;fdfgsf] 
ljleGg efux? sfl6Pkl5 tL 6'qmfx?nfO{ :k6 a}lG8Ën] hf]l8G5 . o;kl5 Xof08n, sAhf, k]r s:g] tyf 
tfNrf h8fg ug]{ cflb sfd yflnG5 . ;fdfg tof/ ePkl5 o;df :k|]o;åf/f /Ë nufOG5 / laqmLof]Uo 
agfOG5 . 

 
 
kl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emns    
1= kl/of]hgfsf] gfd M– :6Ln kmlg{r/ 
2= pTkfbg Ifdtf M– aflif{s :6Ln kmlg{r/ (*) yfg, aflif{s #)) lbg, b}lgs * 306f 
3= pTkfbg x'g j:t' M– :6Ln kmlg{r/ b/fh, Sofljg]6, 6]a'n d]r 
4= sf/vfgf :yfkgf x'g ;Sg] :yfg M– zx/L If]qx? . 
5= s'n k"FhL nufgL 

s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL 

    
?=670000.- 
?=277100.-    

?=947100.-    

6= ljlQo ;+:yfgaf6 qm[0f ;x'lnot— 
s_ bL3{sfnLg C0f  
v_ cNksfnLg C0f  

 

?=400000.- 
?=160000.- 

?=560000.- 

7= d'gfkmfsf] k|ltzt– 
s_ s'n k"FhL nufgLdf 
v_ :jnfut nufgLdf 

 

20.28 % 

49.61% 

 

8= a|]s Oeg KjfOG6 -kf/ ljGb'_ 
s_ k|ltztdf 
v_ d'Nodf 

 

53.86% 

?=936900.- 

 

9= d'gfkmf 
s_ s'n jflif{s pTkfbg lalqmaf6 
v_ s'n jflif{s pTkfbg vr{  

 

?=1738500.- 
?=1545450.- 

?=192050.- 

10= /f]huf/L 
s_ k|ToIf /f]huf/L  

 

15 hjfg 

 

11= d"No clej[l4 39.56%  
 
 
 
 



l:sdl:sdl:sdl:sd    
l:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0f 
1= hUufM !÷@ /f]kgL, k|lt /f]kgL ?= $))))).–  ?=200000.- 

2= sf/vfgf 3/ 
s_ sf/vfgf 3/ 6x/f @)Ú X #)ÚÖ ^)) ju{ lkm6 
v_ uf]bfd 3/ @)Ú X @)Ú Ö $)) ju{ lkm6 
u_ sfof{no !)Ú X @)Ú Ö @)) ju{ lkm6 
   k|lt au{ lkm6 ?= @%).– 
3_ s'n lgdf{0f vr{ 

 

 

 

 

?=300000.- 
?=25000.- 

?=325000.- 
 

3= d]l;g cf}hf/ 
s_ %Ú l;6 sf6\g] d]l;g 1, b/ ?= !@)))).– n] 
v_ ^Ú l;6 kmf]N8LË d]l;g ;]g6 !, b/ ?= &))).– n] 
u_ @%) PlDko/sf] a]N8LË 6«fGkm/d/ ;]6 @, b/ ?= ())).– n] 
3_ :k6 j]N8LË d]l;g ! b/ ?= !@,))).— n] 
ª_ Pc/ sDk|];/ d]l;g @ c=z=sf] ljB't df]6/ tyf :k|]zg kfOk 
cfbL ;]6 ! b/ ?=@!))).— n] 

r_ l8«n d]l;g ;]6 ! b/ ?= #))).— n] 
5_ u|fOG8/ d]l;g ! b/ ?= &))).— n]  
h_] Uof; a]l:8Ë ;]6 ! b/ ?= !)))).– n] 
em_ cGo xft] pks/0fx? 
`_ d]l;g 9'jfgL tyf eG;f/ %Ü n] 
6_ d]l;g h8fg tyf ljB'lts/0f *Ü n] 
6_ ljljw 

 

?=12000.- 
?=7000.- 
?=18000.- 
?=12000.- 
 

?=21000.- 
?=3000.- 
?=7000.- 
?=10000.- 
?=12000.- 
?=5100.- 
?=8160.- 
?=4740.- 

?=120000.- 

4= kmlg{r/ tyf lkmS;r/  ?=12000.- 

5= pBf]udf nufgL cl3sf] vr{  ?=4000.- 

6= pBf]u ;+rfng cl3sf] vr{  ?=9000.- 

s"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhL        ?=?=?=?=670000670000670000670000....----    

         

rfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0f         

1= sRrfdfn df}hbft @% lbgsf] nflu ?=87500.-  

2= k|zf]wgdf /xg] & lbgsf] nflu ?=33180.-  

3= tof/L dfnsf] df}Hbft !@ lbgsf] nflu ?=56880.-  

4= pwf/f] ljqmL c;'ln @! lbgsf] nflu ?=99540.-  

s'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhL        ?=?=?=?=277100277100277100277100....----    

5= s'n k"FhL nufgL 
s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL  

 

?=670000.- 
?=277100.- 

?=947100.- 

jflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vr{{{{   

1= Xf; s§L 
s_ sf/vfgf 3/ %Ü n] 
v_ d]lzg cf}hf/ !)Ü 
u_ kmlg{r/ tyf lkmS;r/ @)Ü 

 

?=16250.- 
?=12000.- 
?=2400.- 

?=30650.- 

2= aLdf -s'n l:y/ k"FhLdf hUufsf] d'No jfx]s_ !Ü  ?=4700.- 
3= Jofh -lb3{sfnLg qm[0f_ $))))).– !^Ü   ?=64000.- 

4= ck|ToIf sd{rf/L vr{–  ?=57000.- 



s_ Joj:yfks ! dfl;s ?=@$)).– n] 
v_ n]vfkfn !, dfl;s ?= @!)).– n] 
u_ ljqm]tf ! dfl;s ?= !*)).— n] 
u_ lkog tyf kfn] !, dfl;s ?=*%).– n] 

?=28800.- 
?=28800.- 
?=21600.- 
?=20400.- 

 

5= sfof{no tyf cGo vr{ 
s_ d;nGb 
v_ lj1fkg 
u_ eQf kl/jxg 
3_ cGo b:t'/ 
ª_ ljlj3 

 

?=6000.- 
?=4000.- 
?=9000.- 
?=3000.- 
?=2000.- 

?=24000.- 

6= n]vfkl/If0f vr{  ?=5900.- 

s'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ M        ?=?=?=?=224250224250224250224250....----    

7= sRrfdfn 
s_ @@ u]hsf] Njfos l;65\ kftf ^Ú X $Ú ;fOhsf] #))) l;6 
k|lt l;6 ? @$).— 

v_ xnf] :Sjfo/ 6\o'a !%))) lkm^ k|lt lkm^ ?= ^.– 
u_ tfNrf *)) yfg b/ ?= $).– n] 
3_ x\of08n *)) yfg b/ ?= $).— n] 
ª_ sAhf, k]r lsnf] cflb 
r_ Ogfd]n %)) ln6/ k|lt ln6/ ?= ^).– 
5_ k|fOdd/ &%) ln6/ k|lt ln6/ ?= %).– 
h_ j]lN8Ë /8 #)) kfs]^ k|lt kfs]6 ?= !@).– 
3_ UofF; tyf cGo 

 

 

?=720000.- 
?=90000.- 
?=64000.- 
?=32000.- 
?=16000.- 
?=30000.- 
?=37000.- 
?=37000.- 
?=24500.- 

?=1050000.- 

8= k|ToIf sfdbf/ vr{ 
s_ bIf sfdbf/ @, dfl;s ?= @!)).– n] 
v_ cw{bIf sfdbf/ $, dfl;s ?= !*)).– n] 
u_ ;xfos sfdbf/ $, dfl;s ?= !@)).– n] 

 

?=50400.- 
?=86400.- 
?=75600.- 

?=194400.- 
 

9= pTkfbg tyf cGo vr{ 
s_ ljB't dx;'n !$$)) o"lg6 , k|lt o"lg6 ?= @.– n] 
v_ kfgL dx;'n 
u_ lu|h t]n df]ljn 
3_ dd{t ;+ef/ tyf hu]8f kf6{k"hf{ 
ª_ ljljw 

 

?=28800.- 
?=1200.- 
?=3600.- 
?=12000.- 
?=2400.- 

?=48000.- 
 

10= Aofh cNksfnLg C0f ?= !^))))) sf] !*Ü n]  ?=28800.- 

s'n rn vr{s'n rn vr{s'n rn vr{s'n rn vr{     ?=1321200.- 

jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{  ?=155450.- 

      

jflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgL    
s_ rfdn ^ÚX$ÚX!*Ú sf] l:6n b/fh #)) yfg, k|lt yfg ?= 
#!)).— n] 

v_ @ÚX#ÚX!*Ú  sf] kmfOlnË Sofljg]6 !() yfg b/ ?= #))).– 
n] 

u_ #ÚX%ÚX#@Ú sf] l:6n 6]a'n !() yfg b/ ?= (%).– n] 
3_ l:6n d]r !() yfg b/ ?= #)).– n] 

 

 

?=930000.- 
 

?=570000.- 
?=180500.- 
?=57000.- 
 
 

?=1737500.- 



d'gfkmfd'gfkmfd'gfkmfd'gfkmf    
s_ s'n jflif{s pTkfbgaf6 cfDbfgL 
v_ s'n jflif{s pTkfbg vr{  

 

?=1737500.- 
?=1545450.- 

?=119050.- 

d'gfkmfsfd'gfkmfsfd'gfkmfsfd'gfkmfsf] k|ltkmnM] k|ltkmnM] k|ltkmnM] k|ltkmnM      

s"n k"FhL nufgLdf 20.27%  

OSjL6L nufgLdf 49.61%  

d"No clea[l4 39.56%  

 


